
CHEMISTRY

BOOKS - CHETANA PUBLICATION

COORDINATION COMPOUNDS

Exercise

1. What is a coordination compound?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_p8ulORuJC5Wb


2. Define Ligard? What are ligands>

Watch Video Solution

3. Describe the nature of the bond in a

coordination compound between metal and

the ligands.

Watch Video Solution

4. What are Lewis acids and bases?

https://dl.doubtnut.com/l/_ANkkArSIpxgl
https://dl.doubtnut.com/l/_ijNjmOcTpH4x
https://dl.doubtnut.com/l/_gTjiRWK2i3jB


Watch Video Solution

5. What are the different types of Ligands?

Give one example each. How are Ligands

classified?

Watch Video Solution

6. What are bidentate ligands? Give one

example.

Watch Video Solution

https://dl.doubtnut.com/l/_gTjiRWK2i3jB
https://dl.doubtnut.com/l/_hE7lgsb81RHK
https://dl.doubtnut.com/l/_NqI6PyuE0Mh1


7. Draw Lewis structure of the following

ligands and identify the donor atom in them

, .

Watch Video Solution

NH3 H2O

8. Name the Lewis acids and bases in the

complex .

Watch Video Solution

[PtC12(NH3)2]

https://dl.doubtnut.com/l/_NqI6PyuE0Mh1
https://dl.doubtnut.com/l/_9XzWcNub0gCg
https://dl.doubtnut.com/l/_LTM6YQt0xSbJ
https://dl.doubtnut.com/l/_3MhSYYQEOREc


9. Explain the following terms (i) coordination

sphere.

Watch Video Solution

10. Explain the following terms (ii) complex ion.

Watch Video Solution

11. Explain the following terms (i) charge

number of the complex ion.

Watch Video Solution

https://dl.doubtnut.com/l/_3MhSYYQEOREc
https://dl.doubtnut.com/l/_0GrOmSHxSbvg
https://dl.doubtnut.com/l/_SYM5N0rL6uqz


12. Explain the following terms (iv) oxidation

state of metal ion.

Watch Video Solution

13. Can you write ionisation of `[Ni(nh_3)_6]Cl_2

Identify coordination sphere and counter ions.

Watch Video Solution

https://dl.doubtnut.com/l/_SYM5N0rL6uqz
https://dl.doubtnut.com/l/_HNFdyAjhZUSP
https://dl.doubtnut.com/l/_zLbGDkFKpx6x


14. A complex is made of Co(III) and cosists of

four  molecules and two Cl ions as

ligands. What is the charge number and

formula of complex ion?

Watch Video Solution

NH3

15. What is Coordination number?

Watch Video Solution

https://dl.doubtnut.com/l/_a57cNHvXjgtY
https://dl.doubtnut.com/l/_0mX6eFIRyE4V


16. What is Coordination number?

Watch Video Solution

17. What is the coordination number of Co in

, Ir in  and

of Pt in ?

Watch Video Solution

[CoCl2(en)2]
+

[Ir(C2O4)2C12]
+

3

[Pt(NO2)2(NH3)2]

https://dl.doubtnut.com/l/_aB1oIIaIDwcO
https://dl.doubtnut.com/l/_BnPfKTwFY36T


18. What is the coordination number and

oxidation state of metal ion in the complex

Watch Video Solution

[Pt(NH3)C15] ⊙

19. What is a double salt? Explain with an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_bcAvL0tbndca
https://dl.doubtnut.com/l/_1re6nqGTUcM8


20. What is a coordination complex? Explain

with an example.

Watch Video Solution

21. What is the different between double salt

and coordination complex?

Watch Video Solution

https://dl.doubtnut.com/l/_IqZz84nyvHl3
https://dl.doubtnut.com/l/_ybCp9gttSCGr


22. Explain werner Theory of coordination

complexes OR What are the postulates of

Werner's Theory.

Watch Video Solution

23. What will happen when (i)  is

added to .

Watch Video Solution

AgNO3

[Co(NH3]6C13

https://dl.doubtnut.com/l/_RV6QsbK7d799
https://dl.doubtnut.com/l/_29j1Si1WFVKc


24. What will happen when (ii) HCl is added to

, will  be evolved?

Watch Video Solution

[Co(NH3)6]Cl3 NH3

25. One mole of a purple coloured complex

 and  on treatment with excess 

 produces three moles . Write

the formula of the complex if the coordination

number of Co is 6.

Watch Video Solution

CoCl3 6NH3

AgNO3 AgCl

https://dl.doubtnut.com/l/_4a5R9tj3K8VX
https://dl.doubtnut.com/l/_g66pyi9k40dm


26. One mole of a purple coloured complex

 and  on treatment with excess 

 produces three moles . Write

the formula of the complex if the coordination

number of Co is 6.

Watch Video Solution

CoCl3 6NH3

AgNO3 AgCl

27. How are complexes classified on the basis

of types of ligands.

Watch Video Solution

https://dl.doubtnut.com/l/_g66pyi9k40dm
https://dl.doubtnut.com/l/_k6Rzkn75L9cm
https://dl.doubtnut.com/l/_VZHhCo8WM0cj


28. Classify following complexes as homeleptic

and heteroleptic.

Watch Video Solution

29. What are cationic, anionic and neutral

complexes? Give one example each.

Watch Video Solution

https://dl.doubtnut.com/l/_VZHhCo8WM0cj
https://dl.doubtnut.com/l/_TWwmodiWAZ9C
https://dl.doubtnut.com/l/_UbuWdpvg6gHp


30. Classify coordination complexes on the

basis of the charge on the complex.

Watch Video Solution

31. Classifythe complexes as homoleptic and

heteroptic ,

and 

Watch Video Solution

[Co(NH3)5C1]SO4

[Co(ONO)(NH3)5]C12[CoC1(NH3)(en)2]
2 ⊕

[Cu(C2O4)3]
3 −

https://dl.doubtnut.com/l/_A9YDNV3Txpif
https://dl.doubtnut.com/l/_zswE8Se5OEOl
https://dl.doubtnut.com/l/_IhboUNDfslGC


32. Classify the complexes as cationic, anionic

or neutral. . ,

,  and 

Watch Video Solution

Na4[Fe(CN)6] [Co(NH3)6]Cl2

[Cr(H2O)2(C2O4)2]
3 −

[PtC12(en)2]

[Cr(CO)6]

33. What is the shape of a complex in which

the coordination number of central metal ion

is 4?

Watch Video Solution

https://dl.doubtnut.com/l/_IhboUNDfslGC
https://dl.doubtnut.com/l/_h9maDjY7Agsb


34. Is the complex  cationic or anionic if

the oxidation state of cobalt ion is +3?

Watch Video Solution

[CoF6]

35. Explain the rules while writing the

formulae and naming coordination

compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_97oIpUghw7PR
https://dl.doubtnut.com/l/_YIb1xrH39Cu6


36. Write the representation of (i)

Tricarbonatocobaltate (III) ion.

Watch Video Solution

37. Write the representation of (ii) Sodium

hexacyanoferrate (III).

Watch Video Solution

https://dl.doubtnut.com/l/_Oy7BXaRuIOP3
https://dl.doubtnut.com/l/_iaTjytfKCYrN


38. Write the representation of (iii) Pottassium

hexa cyanoferrate (II).

Watch Video Solution

39. Write the representation of Aquachlorobis

(ethylenediamine) cobalt (III).

Watch Video Solution

https://dl.doubtnut.com/l/_HuDqiW0BtzaQ
https://dl.doubtnut.com/l/_sbBENUl98dOf


40. Write the representation of (v)

Tetraaquadichlorochromium (III) chloride.

Watch Video Solution

41. Write the representation of (vi)

Diamminedichloroplatinum (II).

Watch Video Solution

https://dl.doubtnut.com/l/_OHCXOkfWgvyV
https://dl.doubtnut.com/l/_u9fDykFunw87


42. Write formulae of the following complexes.

(i) Potassium amminetrichloroplatinate

Watch Video Solution

43. Write formulae of the following complexes.

(ii) Dicyanoaurate (I) ion.

Watch Video Solution

https://dl.doubtnut.com/l/_lnScUfqkQEl4
https://dl.doubtnut.com/l/_0jjVvU2GNiUu


44. Write the formulae for

tetraammineplatinum (II) chloride.

Watch Video Solution

45. Explain in brife EAN rule.

Watch Video Solution

46. Find out the EAN of the following

compounds. (i) Zn(NH3)
+ 2
4

https://dl.doubtnut.com/l/_9KfPiZcVCCGr
https://dl.doubtnut.com/l/_8NgMVjjFlNxy
https://dl.doubtnut.com/l/_jztguqt1sXmb


Watch Video Solution

47. Find out the EAN of the following

compounds. (ii) 

Watch Video Solution

[Fe(CN)6]
− 4

48. Give examples of complexes which shows

deviation from EAN rule.

Watch Video Solution

https://dl.doubtnut.com/l/_jztguqt1sXmb
https://dl.doubtnut.com/l/_x57QLeKxK7MT
https://dl.doubtnut.com/l/_vpg2QDWn5JJ8
https://dl.doubtnut.com/l/_munN6zbZKcWC


49. Do the following complexes follow the EAN

rule?

.

Watch Video Solution

Cr(CO)6, Ni(CO)4, Mn(CO)5, Fe(CO)5

50. Define Isomerism.

Watch Video Solution

51. Define: Isomers.

https://dl.doubtnut.com/l/_munN6zbZKcWC
https://dl.doubtnut.com/l/_bcE9KJmSGwuC
https://dl.doubtnut.com/l/_NDwqvlYYKFc8


Watch Video Solution

52. Explain Stereo isomerism in coordination

complexes.

Watch Video Solution

53. Explain Stereo isomerism in coordination

complexes.

Watch Video Solution

https://dl.doubtnut.com/l/_NDwqvlYYKFc8
https://dl.doubtnut.com/l/_oowcrtTYutyy
https://dl.doubtnut.com/l/_goeFnEGUAOGv
https://dl.doubtnut.com/l/_hXHabyUjkhuD


54. Draw structures of the cis and trans

isomers of .

Watch Video Solution

[Fe(NH3)2(CN)4]
−

55. Predict whether the 

complex is chiral. Write structure of its

enantiomer.

Watch Video Solution

[Cr(en)2(H2O)2]
3 +

56. (i) Draw enantiomers of .[Cr(ox)3]
3 +

https://dl.doubtnut.com/l/_hXHabyUjkhuD
https://dl.doubtnut.com/l/_fjQ7CLzDezn9
https://dl.doubtnut.com/l/_z4fFPTBGwshb


Watch Video Solution

57. (ii) Draw enantiomers and cis and trans

isomers of  (whereox=

`C_2O_4^(2o.).

Watch Video Solution

[Cr(H2O)2(ox)2]
⊙

58. Explain constitutional (structural)

isomerism in coordination complexes.

Watch Video Solution

https://dl.doubtnut.com/l/_z4fFPTBGwshb
https://dl.doubtnut.com/l/_mTspwAZq2TLq
https://dl.doubtnut.com/l/_4Ny4g9Tc8OyS


59. Consider the complexes

 and 

. What type of isomrism

these two complexes exhibit?

Watch Video Solution

[Cu(NH3)4][PtC14]

[Pt(NH3)4][CuC14]

60. Write linkage isomers of

. Write their IUPAC names.

Watch Video Solution

[Fe(H2O)5SCN]
⊕

https://dl.doubtnut.com/l/_4Ny4g9Tc8OyS
https://dl.doubtnut.com/l/_k14ZrSWjLVYO
https://dl.doubtnut.com/l/_98jE18278Rn8


61. Can you write IUPAC names of isomers I and

II?  and 

Watch Video Solution

[Co(NH3)5SO4]Br

[Co(NH3)5Br]SO4

62. Write applications of coordination

compounds in medicine & electroplating.

Watch Video Solution

https://dl.doubtnut.com/l/_BIYHSXGVRmS8
https://dl.doubtnut.com/l/_TmXWIoZdrSyL


63. What are the factors affecting heat of

reaction?

Watch Video Solution

64. Name the theories which explain bonding

in complexes.

Watch Video Solution

65. Explain valence bond theory (VBT).

https://dl.doubtnut.com/l/_MgYSExtSJc1f
https://dl.doubtnut.com/l/_zyzg6vwZG6s8
https://dl.doubtnut.com/l/_UjQMvax5UoCx


Watch Video Solution

66. Give VBT description of bonding in each of

following complexes. Predict their magnetic

behavior. (i) 

Watch Video Solution

[ZnC14]2 ⊙

67. Give VBT description of bonding in each of

following complexes. Predict their magnetic

behavior. (ii)  (high spin)[Co(H2O)6]
2 ⊙

https://dl.doubtnut.com/l/_UjQMvax5UoCx
https://dl.doubtnut.com/l/_vOQajg8sPtWG
https://dl.doubtnut.com/l/_k7FOwYFNyyGJ


Watch Video Solution

68. Give VBT description of bonding in each of

following complexes. Predict their magnetic

behavior. (iii)  (square planar).

Watch Video Solution

[Pt(CN)4]
2 −

69. Give VBT description of bonding in each of

following complexes. Predict their magnetic

behavior. (iv)  (tetrahedral)

Watch Video Solution

[CoC14]2 ⊙

https://dl.doubtnut.com/l/_k7FOwYFNyyGJ
https://dl.doubtnut.com/l/_DLOozcWSFSNp
https://dl.doubtnut.com/l/_6fpyLAdQX1yX


70. Give VBT description of bonding in each of

following complexes. Predict their magnetic

behavior. (ii)  (high spin)

Watch Video Solution

[Co(H2O)6]
2 ⊙

71. Indicate the number of unpaired electrons

in : 

Si (Z=14)

Watch Video Solution

https://dl.doubtnut.com/l/_6fpyLAdQX1yX
https://dl.doubtnut.com/l/_egL7zQga1K2a
https://dl.doubtnut.com/l/_febv4fSDFDJd


72. Explain the structures of the complexes

with box orbital diagram and orbital

hybridisation. (i)  low spin

Watch Video Solution

[Co(NH3)6]
3 +

73. Explain the structures of the complexes

with box orbital diagram and orbital

hybridisation. 

Watch Video Solution

(Ni(CN4)2 −

https://dl.doubtnut.com/l/_febv4fSDFDJd
https://dl.doubtnut.com/l/_9kXcf5Yvzmu8
https://dl.doubtnut.com/l/_hZ4LZEdBPD6S


74. Explain the structures of the complexes

with box orbital diagram and orbital

hybridisation. 

Watch Video Solution

(Ni(CN4)2 −

75. Explain the structures of the complexes

with box orbital diagram and orbital

hybridisation. 

Watch Video Solution

(Ni(CN4)2 −

https://dl.doubtnut.com/l/_u3V8SJN00x8K
https://dl.doubtnut.com/l/_HgvcVkmOxHtv
https://dl.doubtnut.com/l/_ZuDsq5wn7ywa


76. Based on the VBT predict structure and

magnetic behavior of the 

complex.

Watch Video Solution

[Ni(NH3)6]
3 ⊕

77.  is tetrahedral complex. Draw its

box obital diagram. State which orbitals

participate in hybridization.

Watch Video Solution

[CoC14]2 ⊙

https://dl.doubtnut.com/l/_ZuDsq5wn7ywa
https://dl.doubtnut.com/l/_OZoqAQMiNtQ6
https://dl.doubtnut.com/l/_HTUvq49agMpB


78. What are the limitation of VBT.

Watch Video Solution

79. Write a note an Crystal Field Theory.

Watch Video Solution

80. Explain the splitting of a Tetrahedral

complexes.

Watch Video Solution

https://dl.doubtnut.com/l/_HTUvq49agMpB
https://dl.doubtnut.com/l/_gu6jt3KvzYLN
https://dl.doubtnut.com/l/_sWWI70qI9P8D


81. What are the different types of Ligands?

Give one example each. How are Ligands

classified?

Watch Video Solution

82. What are the high-spin and low-spin

complexes?

Watch Video Solution

https://dl.doubtnut.com/l/_kwjIajZI9r5s
https://dl.doubtnut.com/l/_aQu7lzfow2c2


83. Explain in brief the factors affecting blood

pressure.

Watch Video Solution

84. Explain in brief hybrid cars

Watch Video Solution

85. With the help of crystal field energy level

diagram explain why the complex

https://dl.doubtnut.com/l/_46gMPXbrYWBj
https://dl.doubtnut.com/l/_ARHXdle8StHE
https://dl.doubtnut.com/l/_fz9yLXXyOobA


 is coloured?

Watch Video Solution

[Cr(en)3]
3 ⊕

86. Explain the splitting of a Tetrahedral

complexes.

Watch Video Solution

87. A Sketch qualitatively crystal field d orbital

energy level diagrams for each of the

following complexes: (c) [Fe(H2O)6]
2 ⊕

https://dl.doubtnut.com/l/_fz9yLXXyOobA
https://dl.doubtnut.com/l/_Vd4Vn7y4DBUO
https://dl.doubtnut.com/l/_JaChBrRwMWU4


Predict whether each of the complexes is

diamagnetic or paramagnetic.

Watch Video Solution

88. A Sketch qualitatively crystal field d orbital

energy level diagrams for each of the

following complexes: (c) 

Predict whether each of the complexes is

diamagnetic or paramagnetic.

Watch Video Solution

[Fe(H2O)6]
2 ⊕

https://dl.doubtnut.com/l/_JaChBrRwMWU4
https://dl.doubtnut.com/l/_8MJx1Isfwj36
https://dl.doubtnut.com/l/_0NRp91G9osUL


89. A Sketch qualitatively crystal field d orbital

energy level diagrams for each of the

following complexes: (a)  Predict

whether each of the complexes is diamagnetic

or paramagnetic.

Watch Video Solution

[Ni(en)3]
2 ⊕

90. Draw qualitatively energy-level diagram

showing d-orbital splitting in the octahedral

environment. Predict the number of unpaired

electrons in the complex . Is the[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_0NRp91G9osUL
https://dl.doubtnut.com/l/_gPdVnOpNRuWc


complex diamagnetic or paramagnetic? Is it

coloured? Explain.

Watch Video Solution

91. Write applications of coordination

compounds in medicine & electroplating.

Watch Video Solution

92. Draw isomers in each of the following. (i)

Pt(NH3)2C1. NO2

https://dl.doubtnut.com/l/_gPdVnOpNRuWc
https://dl.doubtnut.com/l/_P7WtHSNWCyr4
https://dl.doubtnut.com/l/_HgNkqcGTErA6


Watch Video Solution

93. Draw isomers in each of the following.(ii)

Watch Video Solution

Ru(NH3)4C12

94. Draw isomers in each of the following. (iii)

Watch Video Solution

[Cr(en)2
Br2]

+

https://dl.doubtnut.com/l/_HgNkqcGTErA6
https://dl.doubtnut.com/l/_NbmCgbOvknT6
https://dl.doubtnut.com/l/_34H2K8hPgkMX
https://dl.doubtnut.com/l/_wGAFetJtY66P


95. Draw geometric isomers and enatiomers of

the following complexes. (i) 

Watch Video Solution

[Pt(en)3]
+ 4

96. Draw geometric isomers and enatiomers of

the following complexes. (ii)

Watch Video Solution

[Pt(en)2C1Br]
+ 2

https://dl.doubtnut.com/l/_wGAFetJtY66P
https://dl.doubtnut.com/l/_Lsn7uhxNXjtR


97. What is the coordination number and

oxidation state of metal ion in the complex

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Pt(NH3)C15] ⊙

+2

+3

+1

+4

https://dl.doubtnut.com/l/_uzlUtsdlNINF


98. IUPAC name of the complex

 is

A. bis (ethylenediamine

dithiocyanatoplatinum (IV) ion

B. bis (ethylenediamine)

dithiocyanatoplatinum (IV) ion

C. dicyanatobis (ethylenediamine) platinate

IV ion

[Pt(en)2(SCN)2]
2 +

https://dl.doubtnut.com/l/_AthmvOQjGa51


D. bis (ethylenediammine) dithiocynato

platinate (IV) ion

Answer:

Watch Video Solution

99. Formula for the compound sodium

hexacynoferrate (III) is

A. 

B. 

[NaFe(CN)6]

Na2[Fe(CN)6]

https://dl.doubtnut.com/l/_AthmvOQjGa51
https://dl.doubtnut.com/l/_ZsnPhKlJSGOu


C. 

D. 

Answer:

Watch Video Solution

Na[Fe(CN)6]

Na3[Fe(CN)6]

100. On the basis of CFT predict the number of

unpaired electrons in 

A. 1

B. 2

[CrF6]3 −

https://dl.doubtnut.com/l/_ZsnPhKlJSGOu
https://dl.doubtnut.com/l/_FmWBoNEBI6JA


C. 3

D. 4

Answer:

Watch Video Solution

101. When an excessof  is added to the

complex one mole of AgCI is precipitated. The

formula of the complex is

A. 

AgNO3

[CoC12(NH3)4]C1

https://dl.doubtnut.com/l/_FmWBoNEBI6JA
https://dl.doubtnut.com/l/_RvaNT02lJCcS


B. 

C. 

D. 

Answer:

Watch Video Solution

[CoC1(NH3)4]C12

[CoC13(NH3)3]

[Co(NH3)4]C13

102. The sum of coordination number and

oxidation number of M in 

is

[M(en)2C2O4]C1

https://dl.doubtnut.com/l/_RvaNT02lJCcS
https://dl.doubtnut.com/l/_fvfWsyBt2j1X


A. 6

B. 7

C. 9

D. 8

Answer:

Watch Video Solution

103. The complex ions 

and  are called

[Co(NH3)5(ONO)]
2 +

[Co(NH3)5(NO2)]
2 +

https://dl.doubtnut.com/l/_fvfWsyBt2j1X
https://dl.doubtnut.com/l/_kwWv8IqNmnW6


A. linkage isomers

B. ionisation isomers

C. coordination isomers

D. geometrical isomers

Answer:

Watch Video Solution

104. Primary and secondary valency of

platinum in the complex  are[Pt(en)2C12]

https://dl.doubtnut.com/l/_kwWv8IqNmnW6
https://dl.doubtnut.com/l/_0pEmW7s5u7zK


A. 4,6

B. 2,6

C. 4,4

D. 6,4

Answer:

Watch Video Solution

105. Which one of the following is NOT a

ligand?

https://dl.doubtnut.com/l/_0pEmW7s5u7zK
https://dl.doubtnut.com/l/_w49fcZlzPcvc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

PH3

NO+

Br−

BF3

106. Which complex has square planar

structure?

https://dl.doubtnut.com/l/_w49fcZlzPcvc
https://dl.doubtnut.com/l/_PQWnrNw4AUX9


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Ni(CO)4]

[NiC14]2 −

[Ni(CN)4]
2 −

[Fe(CO)5]

107. The number of ions formed when

cuproammonium sulphate is dissolved in

water is:

https://dl.doubtnut.com/l/_PQWnrNw4AUX9
https://dl.doubtnut.com/l/_njYkK6Wjjbt7


A. 1

B. 2

C. 4

D. Zero

Answer:

Watch Video Solution

108. The oxidation state in

 is[Fe(H2O)5(NO)]SO4

https://dl.doubtnut.com/l/_njYkK6Wjjbt7
https://dl.doubtnut.com/l/_YdOK0hLPlYBC


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+1

+2

+4

+3

109. Which of the following complex will not

show colour?

https://dl.doubtnut.com/l/_YdOK0hLPlYBC
https://dl.doubtnut.com/l/_UUSOHJB6xew6


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Cr(NH3)6]C13

K3[V F6]

[Sc(H2O)6]
3 +

[NiC14]2 −

110. Coordination number of cobalt in

 is[Co(C2O4)3]
3 −

https://dl.doubtnut.com/l/_UUSOHJB6xew6
https://dl.doubtnut.com/l/_wBZnUzpeLHvB


A. 2

B. 6

C. 5

D. 4

Answer:

Watch Video Solution

111. In a coordination complex, the negative

groups or neutral molecules attachedto the

central atom is termed as:

https://dl.doubtnut.com/l/_wBZnUzpeLHvB
https://dl.doubtnut.com/l/_hWQalaN6KFN2


A. charge of metal ion

B. lignands

C. coordination number

D. EAN

Answer:

Watch Video Solution

112. Oxidation number of Co in

 is[Co(NH3)3(H2O)2C1]
+

https://dl.doubtnut.com/l/_hWQalaN6KFN2
https://dl.doubtnut.com/l/_ZEk089LHv0B7


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

113. The number of ions formed when

 is dissolved in water is[Cu(NH3)4]SO4

https://dl.doubtnut.com/l/_ZEk089LHv0B7
https://dl.doubtnut.com/l/_feDjZkiIkD53


A. 1

B. 2

C. 4

D. Zero

Answer:

Watch Video Solution

114. Metal in the chlorophyll is :

A. zinc

https://dl.doubtnut.com/l/_feDjZkiIkD53
https://dl.doubtnut.com/l/_jVxCBx10AgC3


B. magnesium

C. calcium

D. sodium

Answer:

Watch Video Solution

115. A complex involving  hybridisation ion

has:

A. a square planar complex

dsp2

https://dl.doubtnut.com/l/_jVxCBx10AgC3
https://dl.doubtnut.com/l/_HM3WPwifQNQb


B. a tetrahedral geometry

C. an octahedral geometry

D. trigonal planar geometry

Answer:

Watch Video Solution

116. The total number of ions furnished by

 in solution is:

A. 5

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_HM3WPwifQNQb
https://dl.doubtnut.com/l/_WZwJFUrwFdfP


B. 4

C. 3

D. 6

Answer:

Watch Video Solution

117. Vitamin  is a complex of:

A. cobalt

B. zinc

B12

https://dl.doubtnut.com/l/_WZwJFUrwFdfP
https://dl.doubtnut.com/l/_tFYX0wzQNvZg


C. vanadium

D. nickel

Answer:

Watch Video Solution

118. Cis platin compound is used in the

treatment of

A. malaria

B. cancer

https://dl.doubtnut.com/l/_tFYX0wzQNvZg
https://dl.doubtnut.com/l/_fwMgE4Uby2qX


C. AIDS

D. yellow fever

Answer:

Watch Video Solution

119. Ligand used in the estimation of hardness

of water is:

A. EDTA

B. DBG

https://dl.doubtnut.com/l/_fwMgE4Uby2qX
https://dl.doubtnut.com/l/_dynhaYwVaBF6


C. chloride

D. bromo

Answer:

Watch Video Solution

120. The effective atomic number of chromium

(At Number 24) in  is

A. 35

B. 36

[Cr(NH3)6]C13

https://dl.doubtnut.com/l/_dynhaYwVaBF6
https://dl.doubtnut.com/l/_QSerijyTCJWx


C. 33

D. 34

Answer:

Watch Video Solution

121. EAN is calculated by using the formula

A. x+y+z

B. x-z-y

C. z-x+y

https://dl.doubtnut.com/l/_QSerijyTCJWx
https://dl.doubtnut.com/l/_jrIlICss13Jm


D. y-x+z

Answer:

Watch Video Solution

122. The effective atomic number of platinum

in  is

A. 36

B. 84

C. 54

[Pt(NH3)4]
2 +

https://dl.doubtnut.com/l/_jrIlICss13Jm
https://dl.doubtnut.com/l/_r5yBwREBEjzL


D. 35

Answer:

Watch Video Solution

123. EAN rule is used to find

A. Geometry of the complex

B. Stability of complex

C. Number of isomers of complex

https://dl.doubtnut.com/l/_r5yBwREBEjzL
https://dl.doubtnut.com/l/_S59KKHH7DwvG


D. Number of possible ligands around

metal in complex

Answer:

Watch Video Solution

124. The oxidation number of cobalt in

 is

A. 

B. 

K[Co(CN)4]

+1

+3

https://dl.doubtnut.com/l/_S59KKHH7DwvG
https://dl.doubtnut.com/l/_ET1Ewr614pSA


C. 

D. 

Answer:

Watch Video Solution

−1

−3

125. Coordination number of Ni in

 is

A. 3

B. 4

[Ni(C2O4)3]
4 −

https://dl.doubtnut.com/l/_ET1Ewr614pSA
https://dl.doubtnut.com/l/_1kNoumhYetzI


C. 5

D. 6

Answer:

Watch Video Solution

126. The oxidation number of Cr in  is

A. 4

B. 2

C. 6

CrO5

https://dl.doubtnut.com/l/_1kNoumhYetzI
https://dl.doubtnut.com/l/_0h4oW0f6qWTn


D. 10

Answer:

Watch Video Solution

127. The coordination number of a metal in a

coordination compound is

A. same as primary valency

B. same as secondary valency

C. sum of primary and secondary valency

https://dl.doubtnut.com/l/_0h4oW0f6qWTn
https://dl.doubtnut.com/l/_mEf20DbtbO8L


D. none of the above

Answer:

Watch Video Solution

128. Example of double salt is

A. Washing soda

B. Hypo solution

C. Potash alum

D. K3Fe(CN)6

https://dl.doubtnut.com/l/_mEf20DbtbO8L
https://dl.doubtnut.com/l/_wUbEyazobizQ


Answer:

Watch Video Solution

129. According to Lewis concept, ligands are

A. Acidic in nature

B. basic in nature

C. Neither acidic nor basic

D. Amphoteric in nature

Answer:

https://dl.doubtnut.com/l/_wUbEyazobizQ
https://dl.doubtnut.com/l/_11CiPNBKgyVC


Watch Video Solution

130. Which of the following ligand is

hexadentate?

A. EDTA

B. Pyridine

C. Acetate

D. Ethylenediamine

Answer:

https://dl.doubtnut.com/l/_11CiPNBKgyVC
https://dl.doubtnut.com/l/_CGvDjxa1rROs


Watch Video Solution

131. Ligand in complex salt are

A. cations joined to metal ion by

coordination bond

B. anions joined to metal ion by

coordination bond

C. molecules joined to metal ion by

coordination bond

https://dl.doubtnut.com/l/_CGvDjxa1rROs
https://dl.doubtnut.com/l/_XkYfyglq0SYi


D. ions or molecules joined to metal ion by

coordination bond

Answer:

Watch Video Solution

132. An ambidentate ligands is the one which

A. is a small molecule with positive charge

B. large molecule with positive charge

https://dl.doubtnut.com/l/_XkYfyglq0SYi
https://dl.doubtnut.com/l/_2E5a4FXrBRHx


C. has two donor atoms capable of forming

two

D. has two donor atoms, but only one can

form a coordinate bond

Answer:

Watch Video Solution

133. The IUPAC name of the compound

 isK3(Ir(C2O4)3]

https://dl.doubtnut.com/l/_2E5a4FXrBRHx
https://dl.doubtnut.com/l/_IoFTY0lhaUHX


A. Pottassium Tri Oxalatoiridium (III)

B. Potassium Tri Oxalatoiridate (III)

C. Pottasium Tris (oxalato) tridium (IV)

D. Potassium Terakis (oxalato) iridate

Answer:

Watch Video Solution

134. Correct IUPAC name of 

A. Tetra potassium ferrous cyanide

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_IoFTY0lhaUHX
https://dl.doubtnut.com/l/_xu9NtXxqErpZ


B. Potassium Ferricyanide

C. Potassium Ferrocyanide

D. Potassium hexacyanoferrate (II)

Answer:

Watch Video Solution

135. The name of the complex

 is

A. Platinum diammine tetrachloride

[Pt(NH3)2C14]

https://dl.doubtnut.com/l/_xu9NtXxqErpZ
https://dl.doubtnut.com/l/_qTW4o7SGnukz


B. Platinum tetrachlorodiammine

C. Tetra chloro diammine platinum (IV)

D. Diammine tetrachloro platinum (IV)

Answer:

Watch Video Solution

136. The correct formula of the complex

potassium tri oxalato aluminate (III) is

A. K3[A13(C2O4)]

https://dl.doubtnut.com/l/_qTW4o7SGnukz
https://dl.doubtnut.com/l/_MzekxxmFEwU9


B. 

C. 

D. 

Answer:

Watch Video Solution

K3[A1(C2O4)3]

K[(C2O4)3A12O3]

K3[A12O3(C2O2)3]

137.  is named as __________ in

IUPAC system.

A. Tetrachloro zincate sodium

Na2[ZnC14]

https://dl.doubtnut.com/l/_MzekxxmFEwU9
https://dl.doubtnut.com/l/_e9Nk9VIhTcfJ


B. Sodium Tetrachloro zincate (III)

C. Sodium Tetrachloro zincate (II)

D. Tetra chloro zincate sodium (II)

Answer:

Watch Video Solution

138. Potassium ferrocyanide is an example for

A. Complex salts

B. Normal salts

https://dl.doubtnut.com/l/_e9Nk9VIhTcfJ
https://dl.doubtnut.com/l/_ZE7V2J1yccGw


C. Double salts

D. Basic salts

Answer:

Watch Video Solution

139. Example for a coordination compound is

A. 

B. 

C. 

KC1. MgC12. 6H2O

K2SO4. A12(SO4)3. 24H2O

CoC13. 6NH3

https://dl.doubtnut.com/l/_ZE7V2J1yccGw
https://dl.doubtnut.com/l/_af2pZTuVRUsD


D. 

Answer:

Watch Video Solution

FeSO4. (NH4)2. 6H2O

140. What is a double salt? Explain with an

example.

A. Carnallite

B. Potassium ferrocyanide

C. Potassium ferricyanide

https://dl.doubtnut.com/l/_af2pZTuVRUsD
https://dl.doubtnut.com/l/_s72pmbX3t4ti


D. Nessler's reagent

Answer:

Watch Video Solution

141. Which answers are the tests of the

constituent ions?

A. Mohr's salt

B. Nessler's reagent

C. Lithium aluminium hydride

https://dl.doubtnut.com/l/_s72pmbX3t4ti
https://dl.doubtnut.com/l/_66gxnWy6ET2F


D. Prussian blue coloured complex

Answer:

Watch Video Solution

142. In which of the following transition metal

complexes does the metal exhibit zero

oxidation state?

A. 

B. 

[Co(NH3)6]C13

Fe(H2O)6]SO4

https://dl.doubtnut.com/l/_66gxnWy6ET2F
https://dl.doubtnut.com/l/_Y1DfJDBFmfpW


C. 

D. 

Answer:

Watch Video Solution

[Ni(CO)4]

Fe(H2O)6]C13

143. The number of moles of ions produced

when one mole of Potassium Ferricyanide is

dissolved in water is

A. 2

https://dl.doubtnut.com/l/_Y1DfJDBFmfpW
https://dl.doubtnut.com/l/_LJH3o7VgBFbv


B. 4

C. 5

D. 6

Answer:

Watch Video Solution

144. Total number of moles of ions that can be

obtained from each mole of 

is

[Co(NH3)4C12]

https://dl.doubtnut.com/l/_LJH3o7VgBFbv
https://dl.doubtnut.com/l/_203xpuYyxAef


A. 2

B. 3

C. 0

D. 5

Answer:

Watch Video Solution

145. The following does not give a precipitate

either with  and AgNO3 BaC12

https://dl.doubtnut.com/l/_203xpuYyxAef
https://dl.doubtnut.com/l/_sUmP7YUIGNYQ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Co(NH3)5C1]SO4

[Co(NH3)3C13]

[Co(NH3)4C12]C1

[Co(NH3)2C14]C1

146. Ethylene diamine is an example of a _______

ligand.

https://dl.doubtnut.com/l/_sUmP7YUIGNYQ
https://dl.doubtnut.com/l/_WbXHqsfyIRly


A. Monodentate

B. Bidentate

C. Tridentate

D. Hexadentate

Answer:

Watch Video Solution

147. Which of the following is cationic

complex?

https://dl.doubtnut.com/l/_WbXHqsfyIRly
https://dl.doubtnut.com/l/_ZNUG7qxa5brU


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

K4[Fe(CN)6]

[Ni(CO)4]

[Co(NH3)3C13]

[Cu(NH3)4]SO4

148. The no.of moles of AgC1 obtained when

excess  is added to one mole of AgNO3

Cr(NH3)4C12]C1

https://dl.doubtnut.com/l/_ZNUG7qxa5brU
https://dl.doubtnut.com/l/_MZxmJGTsUHWl


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

149. Aqueous solution of 

gives precipitate with

[Co(H2O)5SO4]C1

https://dl.doubtnut.com/l/_MZxmJGTsUHWl
https://dl.doubtnut.com/l/_O0PMhFymvftd


A. 

B. 

C. both 1 and 2

D. neither 1 or 2

Answer:

Watch Video Solution

BaC12 ( aq )

AgNO3 ( aq )

150. According to Werner's theory of valency

transition metals possesses

https://dl.doubtnut.com/l/_O0PMhFymvftd
https://dl.doubtnut.com/l/_ZSc8F4szSHxe


A. only one type of valency

B. two types of valencies

C. three types of valencies

D. four types of valencies

Answer:

Watch Video Solution

151. A bidentate ligand is

A. Oxalate ion

https://dl.doubtnut.com/l/_ZSc8F4szSHxe
https://dl.doubtnut.com/l/_OYDtvAHXBRkG


B. Carbon monoxide

C. Nitronium ion

D. Water

Answer:

Watch Video Solution

152. The groups satisfying the secondary

valencies of a cation in a complex are called

A. Radicals

https://dl.doubtnut.com/l/_OYDtvAHXBRkG
https://dl.doubtnut.com/l/_mxs4187FzCa9


B. Electrondeficient Molecules

C. Primary valencies

D. Ligands

Answer:

Watch Video Solution

153. IUPAC name of the complex 

is

A. Cobalt trichloride penta ammonium

CoC135NH3

https://dl.doubtnut.com/l/_mxs4187FzCa9
https://dl.doubtnut.com/l/_xwCjD4Ekz2LD


B. Penta amine carbonyl chloride

C. Trichloro penta amino cobalt

D. Pentamine chloro cobalt (III0 Chloride

Answer:

Watch Video Solution

154. Copper sulphate solution forms blue

coloured complex with excess of ammonia. Its

formula is

https://dl.doubtnut.com/l/_xwCjD4Ekz2LD
https://dl.doubtnut.com/l/_TzCfftSuHx9y


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Cu(NH3)4]
+ 3

[Cu(NH3)4]
+ 2

[Cu(NH4)3]
+ 2

[Cu(NH4)3]
+ 3

155. Which one of the following acts as a Lewis

base in complexes?

https://dl.doubtnut.com/l/_TzCfftSuHx9y
https://dl.doubtnut.com/l/_yfSTspfwAz3M


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A1C13

BF3

NH3

BC13

156. The square of  is

A. Square Planar

[CoF6] − 3

https://dl.doubtnut.com/l/_yfSTspfwAz3M
https://dl.doubtnut.com/l/_QI2mqWBJATnz


B. Trigonal bipyramidal

C. Octahedral

D. Tetrahedral

Answer:

Watch Video Solution

157.  hybridisation is present in

A. 

B. 

sp3d2

[CoF6] − 3

[Ni(CO)4]

https://dl.doubtnut.com/l/_QI2mqWBJATnz
https://dl.doubtnut.com/l/_mObDwHZKXibN


C. 

D. All

Answer:

Watch Video Solution

Co(NH3)6]
+ 2

158. Which of the following does not obey

octet rule ?

A. 

B. 

Fe(CO)5

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_mObDwHZKXibN
https://dl.doubtnut.com/l/_SiTheXVn8mCL


C. 

D. 

Answer:

Watch Video Solution

[Cu(NH3)4]SO4

[Co(NH3)6]C13

159. The effective atomic number of iron in

 is

A. 34

B. 36

[Fe(CN)6]
3 −

https://dl.doubtnut.com/l/_SiTheXVn8mCL
https://dl.doubtnut.com/l/_kmxolNPmfaVd


C. 37

D. 35

Answer:

Watch Video Solution

160. Mark the vitamin present in Rhodopsin

A. 

B. 

C. 

Co3 +

Co2 +

Fe2 +

https://dl.doubtnut.com/l/_kmxolNPmfaVd
https://dl.doubtnut.com/l/_y7FIgSdLDYLU


D. 

Answer:

Watch Video Solution

Fe3 +

161. The coordination number of Fe (II) in

oxyhaemoglobin is _______

A. 6

B. 4

C. 8

https://dl.doubtnut.com/l/_y7FIgSdLDYLU
https://dl.doubtnut.com/l/_zwGOIzSzAaj5


D. 10

Answer:

Watch Video Solution

162. Which of the following cannot show

linkage isomerism?

A. 

B. 

C. 

NO−
2

SCN −

CN −

https://dl.doubtnut.com/l/_zwGOIzSzAaj5
https://dl.doubtnut.com/l/_4bhLzdkEOXRw


D. 

Answer:

Watch Video Solution

NH3

163. An example of double salt is

A. Cuprammonium sulphate

B. Mohr's salt

C. Pottassium ferricyanide

D. Cobalthexamine chloride

https://dl.doubtnut.com/l/_4bhLzdkEOXRw
https://dl.doubtnut.com/l/_5LXcdFXWbRoG


Answer:

Watch Video Solution

164. 

A. Potassium alumino Oxalate

B. Potassium trioxalation aluminate (iii)

C. Potassium aluminium (III) oxalate

D. Potassium tri(oxalato) aluminate (III)

Answer:

K3[Al(C2O4)3]

https://dl.doubtnut.com/l/_5LXcdFXWbRoG
https://dl.doubtnut.com/l/_oZWLop9F5roK


Watch Video Solution

165. The shape of the complex  is

A. Octahedral

B. Square Planar

C. Tetraheoral

D. Planer

Answer:

Watch Video Solution

(NiC14) − 2

https://dl.doubtnut.com/l/_oZWLop9F5roK
https://dl.doubtnut.com/l/_tIJzHRWopaD3


166. Name the linkage of 

.

Watch Video Solution

[CO(NH3)5NO2]
2 +

167. How are complexes classified on the basis

of types of ligands.

Watch Video Solution

https://dl.doubtnut.com/l/_tIJzHRWopaD3
https://dl.doubtnut.com/l/_ZYp34iiyT0wk
https://dl.doubtnut.com/l/_Vhq9VSLgZeyV


168. Write the representation of (iii)

Pottassium hexa cyanoferrate (II).

Watch Video Solution

169. What is EAN rule? Explain with an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_tQOauqlkI9GG
https://dl.doubtnut.com/l/_cJjdN0by2sbq


170. Draw geometric isomers and enatiomers

of the following complexes. (i) 

Watch Video Solution

[Pt(en)3]
+ 4

171. Draw geometric isomers and enatiomers

of the following complexes. (ii)

Watch Video Solution

[Pt(en)2C1Br]
+ 2

https://dl.doubtnut.com/l/_exbhQw6PXN9Z
https://dl.doubtnut.com/l/_aqLvN5VaOl05


172. Explain the structures of the complexes

with box orbital diagram and orbital

hybridisation.  high spin

Watch Video Solution

(CoF6)3 −

173. Write applications of coordination

compounds in medicine & electroplating.

Watch Video Solution

https://dl.doubtnut.com/l/_8gKUMKjbwDBC
https://dl.doubtnut.com/l/_HWtuyDPKiEpD


174. What are the limitation of VBT.

Watch Video Solution

175. With the help of crystal field energy level

diagram explain why the complex

 is coloured?

Watch Video Solution

[Cr(en)3]
3 ⊕

https://dl.doubtnut.com/l/_41tcjuf2AOAS
https://dl.doubtnut.com/l/_qtJT8U039mly


176. Name the factors governing the

equilibrium constants of the coordination

compounds. State the factors affecting

stability of complexes.

Watch Video Solution

177. Explain the term crystal field splitting

parameter. What are the factors that affect it.

Watch Video Solution

https://dl.doubtnut.com/l/_HrvBv4YPE3hF
https://dl.doubtnut.com/l/_7DyK08d0OIqG
https://dl.doubtnut.com/l/_KMeMgKerBI9T


178. Give valence bond description for the

bonding in the complex . Draw box

diagrams for free metal ion. Which hybrid

orbitals are used by the metal? State the

number of unpaired electrons.

Watch Video Solution

[V C14] − 1

179. Draw qualitatively energy-level diagram

showing d-orbital splitting in the octahedral

environment. Predict the number of unpaired

electrons in the complex . Is the[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_KMeMgKerBI9T
https://dl.doubtnut.com/l/_m510pse83gHw


complex diamagnetic or paramagnetic? Is it

coloured? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_m510pse83gHw

